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vier Briiche, Reihenfolge der Operationen

Name:
460 % - +10=
1 3 1 3
—_+Ix_+Z=
2 5 5 5
1 1
81 x = +9+ = =
3 2
1 1 1 3
-+ —— — X — =
2 3 2 2
1 3 1 1
—+ I x4+ _=
3 4 4 3

Datum: Ergebnis:
I 2 3 2
_+_—_X_:
3 3 4 3
I 1 1 1
—_— e — = X —_ =
2 4 6 2
3 1
—+60x=-+6=
2
3 2 1 2
4+ 4+ - xZ=
5 5 5 3
1
—+6X =-—=+2=
5
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7 [RR
L vier Briiche, Reihenfolge der Operationen

Name: Datum: Ergebnis:
1 1 11 5 1 2 3 2 1
-+ -+10=— =1- -+ —— X —=_
3 PO g l0= =g 373 473 2
1 3 1 3 6l 11 1 1 1 1 1
—_—F - X -t — = — = | — —_—— e — e X — =
2 5 5 5 5 50 2 4 6 2 6

1 1 7 1 3 1 13 1
| X —=9+ _ = _ =3_ — 4+ — 6= — =6-
Blx 359437373 00 x5 76=5 =63
1 1 1 3 1 3 2 1 2 17 2
- —_xZ=_ 4+ 4+ xZ=_=1=
2 3 2 2 12 5 5 5 3 15 15
b3 rr_4 Lol 7
3 4 4 3 48 5 10
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